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BOOKLET A  Select the ONE best answer.
7. Which of the following statements concerning caudal anesthesia in children is true?

(A)The dural sac extends further caudad than in adults.

(B)Delay of postoperative micturition occurs in most patients.

(C)The sensory level of analgesia is poorly correlated with the dose of local anesthetics.

(D)It is technically difficult because of poorly defined sacral anatomy.

(E)It is contraindicated in infants younger than 1 year of age.

22. A 13 year old African-American boy  has severe abdominal pain after debridement of an open fracture of the lower extremity.  His hemoglobin concentration is 10 g/dl and a peripheral blood smear shows elongated crescent-shaped erythrocytes.  The most appropriate initial therapy is:
      (A)
sodium bicarbonate administration
      (B)dopamine infusion.
      (C)
blood transfusion.

(D)
volume loading with crystalloid.

(E)
high-dose corticosteroid administration.
31. A 4 year old child with myelomeningocele and a ventriculoperitoneal shunt is scheduled for bladder augmentation.  One year ago, hypotension and bronchospasm occurred during laparotomy for placement of a feeding gastrostomy and responded to fluids and epinephrine.  At that time, anesthesia was induced with thiopental, the trachea was intubated with a polyvinyl tracheal tube following administration of succinylcholine and anesthesia was maintained with halothane and nitrous oxide.  No diagnostic t4este were performed after that incident.  

Which of the following should be avoided during the bladder augmentation?

(A) Latex gloves.

(B) Polyvinyl tracheal tubes.

(C) Halothane

(D) Succinylcholine.

(E) Thiopental.

40.
A 1150-gram 10 day old infant is undergoing a bowel resection for necrotizing enterocolitis.  Heart rate is 200 bpm and blood pressure measured through a femoral artery catheter is 45/24 mm Hg.  The most appropriate next step is administration of 

(A)
calcium gluconate.

(B)
epinephrine.

(C)
esmolol.

(D)
fentanyl.

(E)
normal saline solution.
41. A 1100-gram 10 day old infant is to undergo ligation of a patent ductus arteriosus after unsuccessful medical treatment.  Within 3 minutes of intravenous administration of atropine 

20 mcg, fentanyl 20 mcg, and pancuronium 0.1 mg, systemic blood pressure decreases from 80 to 30 mm Hg , heart rate from 180 to 140 bpm, and arterial oxygen saturation from 90% to 80%.

The most appropriate  management is to

(A) increase FiO2.

(B)
administer additional atropine.

(C)
infuse crystalloid.

(D)
infuse prostaglandin E1.

(E)
infuse phenylephrine.

56. In a 5-kg boy with Treacher-Collins syndrome who is to undergo cleft palate repair, endotracheal intubation is best accomplished with

(A)
awake nasal intubation after topical anesthesia.

(B)
halothane anesthesia with spontaneous ventilation.

(C)
light isoflurane anesthesia and a muscle relaxant.

(D)
thiopental and succinylcholine sequence intravenously.

(E)
nasal intubation after administration of ketamine intramuscularly.

79. A child undergoing general anesthesia is breathing spontaneously using the Jackson-Rees modification of  the Ayres T-piece.  Respiratory rate is 20/min and tidal volume is 75 ml.  What is the minimum fresh gas flow required to prevent rebreathing?

(A)
750 ml/min

(B)
1500 ml/min

(C)
2250 ml/min

(D)
4500 ml/min

(E)
6000ml/min

93. During anesthesia using the Bain circuit

(A)
PaCO2 is independent of minute volume if fresh gas flow is greater than 17 ml/kg.

(B)
PaCO2  is independent of fresh gas flow if minute volume is greater than 100 ml/kg.

(C)
PaCO2  may be normal in the presence of rebreathing.

(D)
carbon dioxide removal is more efficient during spontaneous ventilation than during controlled ventilation.

(E)
less body heat is lost than with a circle system.
105. A 6 year old child with severe cerebral palsy is scheduled for general anesthesia .  He is at increased risk for each of the following EXCEPT

(A) gastroesophageal reflux.
(B) hypersensitivity to central nervous system depressants.

(C) poor function of laryngeal reflexes.

(D) postoperative pulmonary complications.

(E) succinylcholine-induced hyperkalemia.

For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. 

A(1,2,3)          B(1,3)         C(2,4)        D 4 only       E All are correct

124. A 1 year old boy is crying and cyanotic on arrival in the operating room prior to elective repair of tetralogy of Fallot.  He has a history of episodes of severe cyanosis.  Appropriate management includes

  (1). induction of anesthesia with oxygen and halothane.

  (2)  intravenous administration of nitroglycerine.

  (3)  intravenous administration of propranolol.

  (4)  intravenous administration of isoproterenol.

141. Anesthetic consideration for a 12 year old boy with Duchene’s muscular dystrophy include

  (1) impaired myocardial contractility.

  (2) increased susceptibility to malignant hyperthermia.

  (3) exaggerated hyperkalemia with succinylcholine administration.

  (4) obstructive lung disease.

157. The risk for postoperative apnea in neonates undergoing herniorrhaphy is

  (1) inversely related to gestational age in premature infants.

  (2) aggravated by hypoxemia.

  (3) low in full-term infants.

  (4) prevented by using a regional anesthetic technique.

163.  An 8 year old boy is undergoing a CT scan for evaluation of a closed head injury sustained 3 hours ago.  During the procedure, the right pupil dilates and does not respond to light,  PaCO2  is 28 mm Hg and end-tidal halothane concentration is 0.65%.  Appropriate management includes

  (1) administration of thiopental 3 mg/kg intravenously.

  (2) decrease in PaCO2  to 23 mm Hg.

  (3)  administration of mannitol

  (4)  discontinuation of halothane.

164.  A 3 month old child is scheduled for urgent revision of an obstructed ventriculoperitoneal shunt.  He is paralyzed below the site of a lumbar myelomeningocele repaired at birth. Compared with a  child of the same age who is not paralyzed, this child is at greater risk for

  (1) unilateral diaphragmatic paralysis secondary to cervical nerve root compression.

  (2) hyperkalemia following succinylcholine administration.

  (3) marked blood pressure instability from central autonomic dysfunction.

  (4) increased intracranial pressure following ketamine induction.
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27.  A 3 day old infant is comatose 18 hours after surgical correction of transposition of the great vessels.  Tracheal suctioning produces only a tachycardic response.  Anesthesia included midazolam 0.5 mg/kg, fentanyl 60 mcg/kg and pancuronium 0.3 mg/kg.  Which of the following is the most appropriate first step in evaluation of this infant?

  (A)  administration of flumazenil.

  (B)  administration of naloxone

  (C) train-of-four assessment

  (D) CT scan of the head

  (E) EEG

39.. A 2800 gram neonate is to undergo surgical repair of a small gastroschisis.  The infant is preoxygenated with 100% oxygen.  Arterial hemoglobin desaturation is noted during laryngoscopy after a rapid-sequence induction.  Which of the following is the most likely cause?

  (A)  high fetal hemoglobin concentration

  (B)  high ratio of oxygen consumption to functional residual capacity

  (C)  low functional residual capacity in milliliters per kilogram

  (D)  poor thoracic compliance

  (E)  patent ductus arteriosus

41.  Which of the following findings is most likely in a 3 year old child who has a secundum-type atrial septal defect with a 2:1 right-to-left shunt?
  (A) pulmonary blood flow twice that of systemic blood flow

  (B) pulmonary vascular resistance twice normal

  (C) mean pulmonary artery pressure twice normal

  (D) right atrial pressure twice normal

  (E)  hypoxemia while breathing room air.

58.  A newborn infant is undergoing repair of gastroschisis.  During closure of the abdominal wall, ventilatory pressures and central venous pressure increase markedly.  The most appropriate management is to

  (A)  administer a bronchodilator

  (B)  decrease tidal volume and increase ventilatory rate

  (C)  increase the neuromuscular block

  (D)  increase the depth of anesthesia

  (E)   ask the surgeon to reopen the abdomen.

79. A 20 kg 6 year old boy is undergoing strabismus surgery under anesthesia with halothane, nitrous oxide and oxygen.  The heart rate suddenly decreases form 85 to 40 bpm.  Which of the following is the most appropriate first step in management?

  (A)  decrease the depth of anesthesia.

  (B)  increase the depth of anesthesia

  (C)  hyperventilate the patient

  (D)  administer atropine

(E)  stop the surgical procedure.

91.  The portion of the infant airway with the smallest cross-sectional area occurs at the level of the
  (A)  cricoid cartilage

  (B)  false vocal cords

  (C)  thoracic inlet

  (D)  tonsillar pillars

  (E)  true vocal cords

107.  A delay in surgery for 24 to 48 hours for preoperative stabilization and preparation is acceptable in each of the following neonatal conditions EXCEPT

  (A)  biliary atresia

  (B)  diaphragmatic hernia

  (C)  meningomyelocele

  (D)  pyloric stenosis

  (E)  tracheoesophageal fistula

For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. 

A(1,2,3)          B(1,3)         C(2,4)        D 4 only       E All are correct

120.  A neonate is at greater risk for hypothermia than an adult because of

  (1)  larger surface area/body mass ratio

  (2)  relatively smaller amount of subcutaneous fat

  (3)  inability to shiver in response to cold stress

  (4)  impaired production of heat by metabolism of fatty acids

124.  A 5 year child undergoing strabismus repair suddenly has bradycardia to 40 bpm during eye muscle retraction..  The reflex involves the
  (1) vagus nerve

  (2) ciliary ganglion

  (3) trigeminal nerve

  (4) oculomotor nerve

133.  A 3000 g neonate presents for repair of a tracheoesophageal fistula.  A gastrostomy tube is in place.  During positive pressure ventilation, signs that confirm the presence of the tip of the endotracheal tube below, rather than above, the fistula include

  (1)  equal breath sounds bilaterally

  (2)  absence of sounds during auscultation of the upper abdomen

  (3)  normal plateau on capnogram

  (4) disappearance of air bubbles through the gastrostomy tube under a water seal

142.  Preoperative abnormalities related of pyloric stenosis include

  (1)  dehydration

  (2)  metabolic acidosis

  (3)  metabolic alkalosis

  (4)  hyperkalemia

145.  Compared with normal children, the rate of induction with inhalational anesthetics is delayed in children with

  (1)  patent ductus arteriosus

  (2)  transposition of the great vessels.

  (3)  atrial septal defect

  (4)  tetralogy of Fallot

162.  Tracheal intubation may be difficult in infants with the Pierre Robin anomaly because the 

  (1)  tongue is abnormally large

  (2)  tongue retracts posteriorly

  (3)  motion of the temperomandibular joint is limited

  (4)  mandible is abnormally small

173.  A 1- day old infant with a hematocrit of 45% requires repair of a tracheoesophageal fistula.  His mother has sickle cell disease.  Preoperative evaluation must include

  (1)  hemoglobin electrophoresis

  (2)  serum electrolyte determination

  (3)  platelet count

  (4)  serum glucose determination

